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Question Id : 6863404748 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra, I
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation, how the independence
movement, the first vision for the nation, had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital, Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said, 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the

human body a mechanical system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, 1s Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran i3, of course. a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863404749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book ™Man the unknown' highlights that the mind and the
body are to be equally trested i a ailment as they are mtegrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634018801. 1
68634018802. 2
68634018803. 3
68634018804. 4

Question Number : 2 Question Id : 6863404750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harthar Mahapatra

4, Lillian FEichler Watson

Options :

68634018805. 1
68634018806. 2
68634018807. 3
68634018808. 4

Question Number : 3 Question Id : 6863404751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklairal

| )

. The Holy Quran
3. Light from many lamps

4. Man the unknown

Options :

68634018809. 1
68634018810. 2
68634018811. 3
68634018812. 4

Question Number : 4 Question Id : 6863404752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that 1s an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4, Sensitive
Options :

68634018813. 1
68634018814. 2



68634018815. 3
68634018816. 4

Question Number : 5 Question Id : 6863404753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634018817. 1
68634018818. 2
68634018819. 3
68634018820. 4

Question Id : 6863404748 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra. 1
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation, how the independence
movement, the first vision for the nation, had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the
human body a mechanical system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, i1s Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran i3, of course. a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863404749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative the book ™Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634018801. 1
68634018802. 2
68634018803. 3
68634018804. 4

Question Number : 2 Question Id : 6863404750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harthar Mahapatra

4, Lillian FEichler Watson

Options :

68634018805. 1
68634018806. 2
68634018807. 3
68634018808. 4

Question Number : 3 Question Id : 6863404751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruldaaral

| )

. The Holy Quran
3. Light from many lamps

4. Man the unknown

Options :



68634018809. 1
68634018810. 2
68634018811. 3
68634018812. 4

Question Number : 4 Question Id : 6863404752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that 1s an antonym to the word 'Conceal'

1. Adlment

(B

. Illuminate
3. Revelation
4. Sensitive

Options :

68634018813. 1
68634018814.2
68634018815. 3
68634018816. 4

Question Number : 5 Question Id : 6863404753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."

1. Highlight
2. Multi-pronged
3. Invaluable
4. Intricate

Options :

68634018817. 1

68634018818. 2

68634018819. 3
68634018820. 4

Sub-Section Number : 2
Sub-Section Id : 686340143
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863404754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |[They should give me my monev back or offer to exchange the shoeg| II. |On balance
C. |l thought 1 understood it, but I realized it was more complicated III. |On merit
D. [l would say that, . the best thing is to do nothing for the moment IV |On reflection

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ )

CA-L B-III, C-IT. D-IV
3. A-IIL, B-1, C-IV, D-II
4. A-I1, B-IV. C-III, D-I

Options :

68634018821. 1
68634018822. 2
68634018823. 3
68634018824. 4

Question Number : 6 Question Id : 6863404754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT Fill the blanks in List I with suitable prepositional phrases from List IT

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |They should give me my money back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood it, but I realized it was more complicated II1. |On ment
D_ [l would say that, . the best thing is to do nothing for the moment IV |On reflection

Choose the most appropriate answer from the options given below:

1. A-III, B-IV. C-II. D-I

| E)

. A-L B-III, C-II. D-IV
3. A-IIT, B-1, C-IV. D-II
4. A-I1, B-IV. C-III, D-I

Options :

68634018821. 1
68634018822.2
68634018823. 3
68634018824. 4

Question Number : 7 Question Id : 6863404755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn
2. In the blues
3. Black and white
4. Bite the bullet

Options :

68634018825. 1

68634018826. 2

68634018827. 3
68634018828. 4

Question Number : 7 Question Id : 6863404755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

2

. In the blues

. Black and white

LFS]

4, Bite the bullet

Options :

68634018825. 1
68634018826. 2
68634018827. 3
68634018828. 4

Question Number : 8 Question Id : 6863404756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A

B.

HOn

. Normally. a hair allowed to grow uncut will last from two to six year

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that

grows from them 1s reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

A

3

4

.D.C.A.B.E

B O, AR

E,B,A C.D

.E,B,C,D, A

Options :

68634018829. 1
68634018830. 2
68634018831. 3
68634018832. 4

Question Number : 8 Question Id : 6863404756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally. a hair allowed to grow uncut will last from two to six year

B.

HOn

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them 1s reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

| )

_.'I_

DA BB

B, C,D;AE

By BeAu D

.E,B,C,D, A

Options :

68634018829. 1
68634018830. 2
68634018831. 3
68634018832. 4



Question Number : 9 Question Id : 6863404757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

b2

. My decision to buy an electric car was motivated by economic consideration

L]

. My decision to buy an electric car was motivated by economical considerations

4. No correction

Options :

68634018833. 1
68634018834. 2
68634018835. 3
68634018836. 4

Question Number : 9 Question Id : 6863404757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

2

. My decision to buy an electric car was motivated by economic consideration

[FN]

. My decision to buy an electric car was motivated by economical considerations

4, No correction

Options :

68634018833. 1
68634018834. 2
68634018835. 3
68634018836. 4

Question Number : 10 Question Id : 6863404758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An explosive for firing a bullet or a rocket 1s:

1. Putsch

2

. Prosody
3. Propellant
4, Pulmonary

Options :

68634018837. 1
68634018838. 2
68634018839. 3
68634018840. 4

Question Number : 10 Question Id : 6863404758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket 1s:

1. Putsch

b2

. Prosody
3. Propellant
4. Pulmonary
Options :
68634018837. 1
68634018838. 2

68634018839. 3
68634018840. 4

Question Number : 11 Question Id : 6863404759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A certain sum fetched simple interest of 3200 at the rate of 6.25% per annum in 4 years. What is the sum?
1. 13000
2. 712800
3. 712500
4. 312000

Options :
68634018841. 1
68634018842. 2



68634018843. 3
68634018844. 4

Question Number : 11 Question Id : 6863404759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple interest of 3200 at the rate of 6.25% per annum in 4 years. What is the sum?

1. 213000

b2

. 212800
3. 212500
4. 212000

Options :

68634018841. 1
68634018842. 2
68634018843. 3
68634018844. 4

Question Number : 12 Question Id : 6863404760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

[ ]
]
o]

4,150

Options :

68634018845. 1
68634018846. 2
68634018847. 3
68634018848. 4

Question Number : 12 Question Id : 6863404760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

| )

. 80
3. 100
4,150

Options :

68634018845. 1
68634018846. 2
68634018847. 3
68634018848. 4

Question Number : 13 Question Id : 6863404761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . : . .
If a man increases his speed to — times his usual speed. he reaches his office 24 minutes before the office

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

2

. 52 minutes
3. 54 minutes

4. 55 minutes

Options :

68634018849. 1
68634018850. 2
68634018851. 3
68634018852. 4

Question Number : 13 Question Id : 6863404761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: : 9 . : . :
If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office
J

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

|

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634018849. 1
68634018850. 2
68634018851. 3
68634018852. 4

Question Number : 14 Question Id : 6863404762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 i || L |
The value of - 3+ i 18

1.9

| ]
b
-

4.2.7

Options :

68634018853. 1
68634018854. 2
68634018855. 3
68634018856. 4

Question Number : 14 Question Id : 6863404762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



43 | A
The value of - 3+ i 18

b | ==

1.9

| ]
b
-

4.2.7

Options :

68634018853. 1
68634018854. 2
68634018855. 3
68634018856. 4

Question Number : 15 Question Id : 6863404763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular cylinder a height 14cm is increased in a sphere of radius 8cm then volume of the cylinder

i e
(in.cm®)- (use 7 = =).

1. 110

[ )

. 220
3.440

4. 600

Options :

68634018857. 1
68634018858. 2
68634018859. 3
68634018860. 4

Question Number : 15 Question Id : 6863404763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a right circular cylinder a height 14cm is increased in a sphere of radius 8cm then volume of the cylinder
)

(in.cm®)- (use 7 = =).

1. 110

[ )

. 220
3.440

4. 600

Options :

68634018857. 1
68634018858. 2
68634018859. 3
68634018860. 4

Question Number : 16 Question Id : 6863404764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T |AA

Q0 O

T A |

AA I\T:] 5

Far

L A

b2

Options :

68634018861. 1
68634018862. 2
68634018863. 3
68634018864. 4

Question Number : 16 Question Id : 6863404764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T |AA

Q0 O

T A |

AA I\T:] 5

Far

L A

b2

Options :

68634018861. 1
68634018862. 2
68634018863. 3
68634018864. 4

Question Number : 17 Question Id : 6863404765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the gir] in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece

4, Aunt

Options :

68634018865. 1
68634018866. 2
68634018867. 3
68634018868. 4

Question Number : 17 Question Id : 6863404765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph, Aman tells his friend. "she 1s the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece
4. Aunt
Options :
68634018865. 1
68634018866. 2

68634018867. 3
68634018868. 4

Question Number : 18 Question Id : 6863404766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 s

1. 146

[

. 154

3. 128

4.136



Options :

68634018869. 1
68634018870. 2
68634018871. 3
68634018872. 4

Question Number : 18 Question Id : 6863404766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 ?

1. 146

| )

. 154
3.128

4. 136

Options :

68634018869.
68634018870.
68634018871.
68634018872.

AW N =

Question Number : 19 Question Id : 6863404767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The giving statement is followed by three arguments. Decide which of the options 1s correct about the given
arguments.

Statements: Should seniority be only eriterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, sentors are more experienced and must be rewarded
III. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand II

| )

I and III

Lag

. Only III
4. Only1
Options :

68634018873. 1
68634018874. 2



68634018875. 3
68634018876. 4

Question Number : 19 Question Id : 6863404767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The giving statement is followed by three arguments. Decide which of the options 1s correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
IIT. No. 1t would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand II

2. 11 and III

L]

. Only III
4. OnlyI

Options :

68634018873. 1
68634018874. 2
68634018875. 3
68634018876. 4

Question Number : 20 Question Id : 6863404768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

[ )
~J
(=1
e
L
0
h
e
Lh
]
[ ]

3. 7645954452
4. 8645954552

Options :

68634018877. 1
68634018878. 2
68634018879. 3
68634018880. 4

Question Number : 20 Question Id : 6863404768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
If QUALITY is coded as §313927, then GOVERNMENT is coded as:

1. 7645954551
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4. 8645954552

Options :

68634018877. 1
68634018878. 2
68634018879. 3
68634018880. 4

Question Number : 21 Question Id : 6863404769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Name of Padma Vibhushan Awardee Awarded in the service
A Ms. Prabha Atre I | Public Affairs
B. Mr Kalvan Singh II. |Literature and Education|
C. Pvir. Radheyshvam Khemka III. |Civil Service
D_ |General Bipin Rawat IV |Art

Choose the most appropriate answer from the options given below:

1. A-I, B-III, C-IV, D-II

[ ]

CA-IV. B-1, C-IT1, D-IT
3. A-IV, B-1. C-11, D-III
4. A-1. B-IV. C-1I. D-III

Options :

68634018881. 1
68634018882. 2
68634018883. 3
68634018884. 4

Question Number : 21 Question Id : 6863404769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Name of Padma Vibhushan Awardee Awarded in the service
A [Ms. Prabha Atre I | Public Affairs
B. Mr Kalvan Singh II. |Literature and Education|
C. Pvir. Radheyshvam Khemka III. |Civil Service
D_ |General Bipin Rawat IV |Art

Choose the most appropriate answer from the options given below:

1. A-I, B-III, C-IV, D-II

[ ]

. A-TV. B-1. C-III, D-TT
3. A-IV. B-1. C-I1. D-III
4. A-I. B-TV. C-I1. D-I1I

Options :

68634018881. 1

68634018882. 2

68634018883. 3
68634018884. 4

Question Number : 22 Question Id : 6863404770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite 'Aryabhatta’ is

1. 7 June, 1979

b2

.19 April, 1975
3. 19 June. 1953
4. 07 April, 1981

Options :

68634018885. 1
68634018886. 2
68634018887. 3
68634018888. 4

Question Number : 22 Question Id : 6863404770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Date of launching of satellite 'Aryabhatta’ is

1. 7 June, 1979

2

.19 April, 1975

LFS]

.19 June, 1953

=y

.07 April, 1981

Options :

68634018885. 1
68634018886. 2
68634018887. 3
68634018888. 4

Question Number : 23 Question Id : 6863404771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disease’ Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease Diptheria’
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement [ is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634018889. 1
68634018890. 2

68634018891. 3
68634018892. 4

Question Number : 23 Question Id : 6863404771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Due to disease’ Pneumonia'. lungs of the human body are affected.

Statement II: Lungs of human body are also affected due to disease Diptheria’

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement I are correct
2. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement IT i1s incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634018889. 1
68634018890. 2
68634018891. 3
68634018892. 4

Question Number : 24 Question Id : 6863404772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas is celebrated on which day?

1. 12 March

b2

. 24 June
3. 18 May
4. 20 April

Options :

68634018893. 1
68634018894. 2
68634018895. 3
68634018896. 4

Question Number : 24 Question Id : 6863404772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Passport Sewa Diwas is celebrated on which day?

1. 12 March

2

. 24 June
3. 18 May
4,20 April

Options :

68634018893. 1
68634018894. 2
68634018895. 3
68634018896. 4

Question Number : 25 Question Id : 6863404773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210.000 to 25.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present ¥5.000 to 215.000

C. As per election commission. the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. Aand B only

| )

.A. Cand D only
3. A.Band C only

4. A B.Cand D only

Options :

68634018897. 1
68634018898. 2
68634018899. 3
68634018900. 4

Question Number : 25 Question Id : 6863404773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210.000 to 25.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present Z5.000 to 215,000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:
1. Aand B only
2. A.Cand D only
3. A.Band C only

4. A B.Cand D only

Options :

68634018897. 1
68634018898. 2
68634018899. 3
68634018900. 4

Part B: Music Percussion

Section Id : 68634096
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340144
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863404774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pt.Ram Sahai took tabla training from:

1. Siddhar Khan

2

. Modu Khan

LFS]

. Haji Vilayat Ali

=y

. Quadir Baksh

Options :

68634018901. 1
68634018902. 2
68634018903. 3
68634018904. 4

Question Number : 26 Question Id : 6863404774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4. Y9 9eld 3 daal arg- fob fRran fo=3 urd ot die
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Options :

68634018901. 1
68634018902. 2
68634018903. 3
68634018904. 4

Question Number : 27 Question Id : 6863404775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In one cycle of Thaptala. reciting Tigun once. will begin after the beat.

1.6
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4.4

Options :
68634018905. 1



68634018906. 2
68634018907. 3
68634018908. 4

Question Number : 27 Question Id : 6863404775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUATd & U 3Udc 4 U aR AT a8 T & 4Td URY g 98 R S
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Options :

68634018905. 1
68634018906. 2
68634018907. 3
68634018908. 4

Question Number : 28 Question Id : 6863404776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In North Indian Music, number of Motation systems systems are:

| M
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Options :

68634018909. 1
68634018910. 2
68634018911. 3
68634018912. 4

Question Number : 28 Question Id : 6863404776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018909. 1
68634018910. 2
68634018911. 3
68634018912. 4

Question Number : 29 Question Id : 6863404777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sign for Kakpada 1s:

1.u

| ]

.0
3.+
4.5
Options :
68634018913. 1
68634018914.2

68634018915. 3
68634018916. 4

Question Number : 29 Question Id : 6863404777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018913. 1
68634018914. 2



68634018915. 3
68634018916. 4

Question Number : 30 Question Id : 6863404778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Champalli composition is known as:

1. In the form of Kayda

[

. In the form of Gat

LIPS ]

. In the form of Tulora

4. In the form of Chakradar

Options :

68634018917. 1
68634018918. 2
68634018919. 3
68634018920. 4

Question Number : 30 Question Id : 6863404778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. ®EE P FYH
2.7 S 0l
3.ChSI D EIH

4. IR B FIH

Options :

68634018917. 1
68634018918. 2
68634018919. 3
68634018920. 4

Question Number : 31 Question Id : 6863404779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If Jhaptala is recited in chagun and Rupak in Dugiun. then it will come in which Tala from Sam to Sam.

1. Thaptala

| B

. Rupak
3. Dadra

4, Keharwa

Options :

68634018921. 1
68634018922. 2
68634018923. 3
68634018924. 4

Question Number : 31 Question Id : 6863404779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SUATd 1 91 Ud =0 &I giF 4 Gl o ad 3% [ dara 3 99 I 95 TP 3
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U
3. alaxl
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Options :

68634018921. 1
68634018922. 2
68634018923. 3
68634018924. 4

Question Number : 32 Question Id : 6863404780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: In Natya Shastra. Pushkar Vadyas have been discussed as Percussion Instruments
Reason R: Text Natya Shastra is Primarily based upon Instruments

In the light of the above statements. choose the correct answer from the options Given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R NOT the correct explanation of A

3. Ais true but R is false

4. A is true but R 1s true

Options :

68634018925. 1
68634018926. 2
68634018927. 3
68634018928. 4

Question Number : 32 Question Id : 6863404780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018925. 1
68634018926. 2
68634018927. 3
68634018928. 4



Question Number : 33 Question Id : 6863404781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST T Artiste LIST IT Instruments
A [Vilvadi Aryver I. [Tabla
B. [Parvat Singh I1. [Nakkara
C. |Ahmad Jaan Thirakwa| III. [Pakhawa;
D. [Artan Khan IV. Mridangam

Choose the correct answer from the options given below:

1. A-I. B-II. C-IL. D-IV

| )

A-IL B-I, C-IV, D-III

[#5]

AL B-IV. C-I1, D-I
4. A-IV, B-III. C-I. D-II

Options :

68634018929. 1
68634018930. 2
68634018931. 3
68634018932. 4

Question Number : 33 Question Id : 6863404781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-II. D-IV
2. A-IL B-I, C-IV, D-III
3. A-IIT. B-TIV. C-I1. D-I
4. A-IV. B-IIL C-I. D-II

Options :
68634018929. 1



68634018930. 2
68634018931. 3
68634018932. 4

Question Number : 34 Question Id : 6863404782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ta Thi Don Ton Composition belongs to.
1. Mridagam
2. Sitar
3. Sarod

4, Veena

Options :

68634018933. 1
68634018934. 2
68634018935. 3
68634018936. 4

Question Number : 34 Question Id : 6863404782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4. 9o

Options :

68634018933. 1
68634018934. 2
68634018935. 3
68634018936. 4

Question Number : 35 Question Id : 6863404783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Uthan' is performed in which Gharana:
1. Punjab
2. Banaras
3. Delhi
4. Ajrada

Options :

68634018937. 1
68634018938. 2
68634018939. 3
68634018940. 4

Question Number : 35 Question Id : 6863404783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IO B dig- g = T g Jan g -

1. Udlg

[ )

g
3. oo
4. SRS

Options :

68634018937. 1
68634018938. 2
68634018939. 3
68634018940. 4

Question Number : 36 Question Id : 6863404784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'O sign 1s of :

1. Anudmt

| B

. Drut
3. Laghu

4, Gum

Options :
68634018941. 1



68634018942. 2
68634018943. 3
68634018944. 4

Question Number : 36 Question Id : 6863404784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MEEAC R EANE

1. SMEA
254
3.7
LT

Options :

68634018941. 1
68634018942. 2
68634018943. 3
68634018944. 4

Question Number : 37 Question Id : 6863404785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of Dha' in Farmaish Chakradar are:

4,12

Options :

68634018945. 1
68634018946. 2
68634018947. 3
68634018948. 4

Question Number : 37 Question Id : 6863404785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018945. 1
68634018946. 2
68634018947. 3
68634018948. 4

Question Number : 38 Question Id : 6863404786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of 'Tati' in Karnatak music are:

[
h

4,7

Options :

68634018949. 1
68634018950. 2
68634018951. 3
68634018952. 4

Question Number : 38 Question Id : 6863404786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fiee Tiid & S 3 e b B -

1.4
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L
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Options :
68634018949. 1
68634018950. 2



68634018951. 3
68634018952. 4

Question Number : 39 Question Id : 6863404787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Artiste of Ajrada Gharana are:

A, Nathu Khan

B. Habibudin Khan

C. Sitas Khan

D. Sudhir Kumar Saxena

Choose the correct answer from the options given below:

1. A. B only

| )

. B, C only
3. B.D only
4. A. D only
Options :
68634018953. 1
68634018954. 2

68634018955. 3
68634018956. 4

Question Number : 39 Question Id : 6863404787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS TR & HATDR &
A Y El
B. glagg @l
c. Fqar =@t
D. IR $HR YT
=i fau U f[d@edl 5 O Tal 3Tk &1 944 DIu:

1. P A. B
2. $ad B. C
3.%auB.D
4.Hdd A. D

Options :
68634018953. 1



68634018954. 2
68634018955. 3
68634018956. 4

Question Number : 40 Question Id : 6863404788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was honoured with the Title Pakhawaj Keshri'?

1. Kadau Singh

[ )

. Chatrapati Singh
3. Nana Panse
4. JTodh Singh

Options :

68634018957. 1
68634018958. 2
68634018959. 3
68634018960. 4

Question Number : 40 Question Id : 6863404788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gEa HRRT BT IuIey I fobo-g fayfSd feear mar um
1. 943 g
2. BA4ufd g
3. AT
4.y g

Options :

68634018957. 1
68634018958. 2
68634018959. 3
68634018960. 4

Question Number : 41 Question Id : 6863404789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Saransh' composition is of:

1. Tabla
2. Shri Khol
3. Mridangam
4. Pakhawa;

Options :

68634018961. 1

68634018962. 2

68634018963. 3
68634018964. 4

Question Number : 41 Question Id : 6863404789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. d8cd DI

. gidid &1

 HHH FT

4. Udidal &l

| )

Lad

Options :

68634018961. 1
68634018962. 2
68634018963. 3
68634018964. 4

Question Number : 42 Question Id : 6863404790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of Yati under Talas Das Pranas:

A. Piplika

B. Gopuccha
C. Strotogata
D. Mridanga

Choose the correct answer from the options given below:

1LA.B.C.D

| )

B DA
3.C,A.D.B
4.B,A.D,.C

Options :

68634018965. 1
68634018966. 2
68634018967. 3
68634018968. 4

Question Number : 42 Question Id : 6863404790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dTcl & g1 WU & Siaiia afd &1 Tgl od g
A fodiferar
B. M3
C. HidhTl
D. 7
i fU 7T faeedi § 9 el STk &1 994 Hifeiu:

1LLAB.ED

[ B)

.C,B,D, A
3. CCA.D.B
4 B.A.D.C

Options :

68634018965. 1
68634018966. 2
68634018967. 3
68634018968. 4

Question Number : 43 Question Id : 6863404791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Vadya LIST II Variety
A |Tripushakar I. JAvnadha
B. Paighanta II. |Ghan
C. [Sundani II1. [Sushir
D. [Ravan Hatha |IV [Tara

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| E)

. A-IIL B-IIL C-I. D-IV

[#5]

CA-L B-IIL, C-II1. D-IV
4. A-I. B-III. C-II. D-IV

Options :

68634018969. 1
68634018970. 2
68634018971. 3
68634018972. 4

Question Number : 43 Question Id : 6863404791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

gl 1 1 Yol 1 9 fieH Siforg

a1 =1
arel TP
A [PIgs I |
B. [GIYel 1. J¢
C. [dedl 111 [
D. Ragan  [1v [aq
frafarad fawel & I 96l IR &1 994 DI -

1. A-IV, B-III. C-II. D-I
2. AL B-III, C-1. D-IV
3. A-L. B-II. C-III. D-IV
4. A-1. B-I1I. C-II. D-IV
Options :
68634018969. 1

68634018970. 2
68634018971. 3



68634018972. 4

Question Number : 44 Question Id : 6863404792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Meaning of 'Kaal' 1s:
1. Kriya
2. Anga
3. Graha
4, Time
Options :
68634018973. 1
68634018974. 2

68634018975. 3
68634018976. 4

Question Number : 44 Question Id : 6863404792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT BT 3 R -
1. fban
2. 31
3. Ug
4. JHY
Options :
68634018973. 1
68634018974. 2

68634018975. 3
68634018976. 4

Question Number : 45 Question Id : 6863404793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Palam Subramaniya was expert of which mstrument?

1. Pakhawayj

2

. Shr1 Khol
3. Mridangam

4, Tabla

Options :

68634018977. 1
68634018978. 2
68634018979. 3
68634018980. 4

Question Number : 45 Question Id : 6863404793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt GeHvgH & food arer & are1 F Fgurar A
1. G
2 drErd
3. 74T
4. gl

Options :

68634018977. 1
68634018978. 2
68634018979. 3
68634018980. 4

Question Number : 46 Question Id : 6863404794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pakhawaj is made of:

1. Wood

b2

. Jron

LFS]

. Copper
4. Glass

Options :
68634018981. 1
68634018982. 2



68634018983. 3
68634018984. 4

Question Number : 46 Question Id : 6863404794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qEas S 8ldl & -

1. ddal
dig

3. didn
4. vft=m

Options :

68634018981. 1
68634018982. 2
68634018983. 3
68634018984. 4

[

Question Number : 47 Question Id : 6863404795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LIST I State LIST II Instrument

A Zaharashira I. |Sambal
B. [Kashmir II. [Santoor
C. [Rajasthan III. |Daff
D. [Punjab IV. [Dhol

Choose the correct answer trom the options given below:

1. A-I. B-IL C-IIL. D-IV

| ]

. A-IT, B-1, C-II1. D-IV
3. A-III, B-1I. C-IV. D-I
4. A-IV, B-11. C-I1I, D-I

Options :

68634018985. 1
68634018986. 2
68634018987. 3
68634018988. 4

Question Number : 47 Question Id : 6863404795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

g1 &
TSR GIE
A [FHERY I [Hed
B. [PTEHR I [Ad@R
C. o= 111 [5%
D. [dud v [eid
Fafafad 9o & T 981 SR &1 994 Iy ;

1. A-I. B-II. C-II1, D-IV
2. A-IT. B-I. C-IIL. D-IV
3. A-II1. B-I1. C-IV. D-1
4. A-IV. B-II. C-II1. D-1

Options :

68634018985. 1

68634018986. 2

68634018987. 3
68634018988. 4

Question Number : 48 Question Id : 6863404796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Maridangan falls under the category of:

1. Tatta

b2

. Vitatta

L]

. Sushir
4. Avnadda

Options :

68634018989. 1
68634018990. 2
68634018991. 3
68634018992. 4

Question Number : 48 Question Id : 6863404796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g farg o1 & i ST 82
1.3

2. faaq
3. gtR

4. Hd1g

Options :

68634018989. 1
68634018990. 2
68634018991. 3
68634018992. 4

Question Number : 49 Question Id : 6863404797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Tala I [Vilambait
B. [Lava II. [Fard
C. |Bandish III. |Baszant
D. [Layakari IV |Ada

Choose the correct answer from the options given below:

1. A-I. B-IL C-IIL. D-IV

| E)

AL B-IIL C-IV. D-I
3. A-IIL, B-1, C-II. D-IV
4. A-II1. B-1I., C-I. D-IV

Options :

68634018993. 1
68634018994. 2
68634018995. 3
68634018996. 4

Question Number : 49 Question Id : 6863404797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

= T
A [dre 1. |facifead
B. [og 1. [Be
C. [@c= I11. [§5d
D. [d@®Rl V. [ams
FafeRad fasedl O © 981 STk &1 994 Sifoy ;

1. A-I. B-II. C-III. D-IV
2. AN B-1IIL C-IV, D-I
3. A-IIL. B-1. C-II. D-IV
4. A-III, B-II. C-1. D-IV

Options :

68634018993. 1
68634018994. 2
68634018995. 3
68634018996. 4

Question Number : 50 Question Id : 6863404798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While reciting the Thaka of Panchami Savari once in Dngun and once in Changun in one avartan (cycle) will
begin after the beat.

.
1..3=
2

(]
.
|~

I |

Fu s

Options :

68634018997.
68634018998.
68634018999.
68634019000.

AW N =

Question Number : 50 Question Id : 6863404798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UgH FaR| & &b B, 34! a1 J U U aR g1 @ 91, [ A1 & 94T 9RH R

5
1. 3=
2

[
=
L | =2

= |

s

Options :

68634018997.
68634018998.
68634018999.
68634019000.

AW N =

Question Number : 51 Question Id : 6863404799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Atodhya’ acoording to Natya Shashtra is.

A. Avanadha
B. Marjana
C. Swara

D. Sushir

Choose the correct answer from the options given below:

1. Aand B only

[ ]

. B and C only
3. Aand D only

4. B and D only

Options :

68634019001. 1
68634019002. 2
68634019003. 3
68634019004. 4

Question Number : 51 Question Id : 6863404799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & 3FER T § -
A HIT&
B. BT
C. WX
D. gtk
i fau T fasedl O I el STk &1 994 Bifoiu:
1. DA A, B
2. BaA B, C
3. PAdA.D

4. HdAB. D

Options :

68634019001. 1
68634019002. 2
68634019003. 3
68634019004. 4

Question Number : 52 Question Id : 6863404800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pt. Anokhe Lal Mishra was born at:
1. Varanasi
2. Kolkatta
3. Delhi

4. Punjab

Options :

68634019005. 1
68634019006. 2
68634019007. 3
68634019008. 4

Question Number : 52 Question Id : 6863404800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0. 3HRd A1 % BT SH Hel gt U1
1. RTORT
2. Pl
3. faeeft
4, JoTTd

Options :

68634019005. 1
68634019006. 2
68634019007. 3
68634019008. 4

Question Number : 53 Question Id : 6863404801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name of the ragas are:

A Bilawal
B. Aahat
C. Yaman
D. Teevra

Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. Aand D only

4. B and C only

Options :

68634019009. 1
68634019010. 2
68634019011. 3
68634019012. 4

Question Number : 53 Question Id : 6863404801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST AIMMPHTAE -

A, foaEa

B. 3Tgd
C. gmA
D.dlg

i fau T fasedl O I el STk &1 994 Bifoiu:
1. PITA. B
2. BAUA, C
3. AT A, D
4. HAUB. C

Options :

68634019009. 1
68634019010. 2
68634019011. 3
68634019012. 4

Question Number : 54 Question Id : 6863404802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Karnataka Music. value (HIH) of which one of the following changes:

1. Anudruta
2. Druta
3. Laghu
4. Gurn

Options :

68634019013. 1

68634019014. 2

68634019015. 3
68634019016. 4

Question Number : 54 Question Id : 6863404802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hice Gifid & drel § g O sad S &7
1.&?!%5!
g4
.Y
4.7
Options :
68634019013. 1
68634019014. 2

68634019015. 3
68634019016. 4

| )

L

Question Number : 55 Question Id : 6863404803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

String (Tatta) Instruments are:

A. Tabla

B. Sitar

C. Violon
D. Pakhawaj

Choose the correct answer from the options given below:
1. Aand B only
2. B and C only
3. B and D only

4. A and C only

Options :

68634019017. 1
68634019018. 2
68634019019. 3
68634019020. 4

Question Number : 55 Question Id : 6863404803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, dEdl
B. TgaRr
. 9l
D. GG

i fau T fasedl O I el STk &1 994 Bifoiu:
1. PITA. B
2. $au B, C
3. PadB. D
4. PAUA, C

Options :

68634019017. 1
68634019018. 2
68634019019. 3
68634019020. 4

Question Number : 56 Question Id : 6863404804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Instruments LIST IT Artiste

A |Pakhawaj I. |Palani Subramaniyam
B. [Tabla 1I. [Kudau Singh

C. PMrdangan II1. [Dilawar Khan

D [Dholak TV |Anokha Lal Mishra

Choose the correct answer from the options given below:

1. A-I, B-IL. C-IIL. D-IV

| E)

CA-IV. B-1, C-1I. D-III
3. A-IV. B-I1. C-I, D-III
4. A-II, B-IV. C-1, D-III

Options :

68634019021. 1
68634019022. 2
68634019023. 3
68634019024. 4



Question Number : 56 Question Id : 6863404804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 gl 11 9 e siforg

T gt
ERCEID CICED
A [0EEE 1 [ gEHUTH
B. [qear 1. [pas g
Cc. [Igm 1. [[EaraR @l
D. [Glcid V. |31 o Y
fFrafafad famedl & 9 98l SR &1 991 DIy

1. A-I. B-II, C-III. D-IV
2. A-IV. B-I. C-1I. D-III
3. A-IV. B-II. C-1, D-III
4. A-IL. B-IV. C-1, D-III

Options :

68634019021. 1
68634019022. 2
68634019023. 3
68634019024. 4

Question Number : 57 Question Id : 6863404805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reciting 4 beat in 1 beat is known as:
1. Triyasya
2. Chaturasya
3. Khand
4. Mishra
Options :
68634019025. 1
68634019026. 2

68634019027. 3
68634019028. 4

Question Number : 57 Question Id : 6863404805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 AT H 4 AT SIS Pl ‘JH‘.'H%-

1.4

2. 9™
3.98

4. Thy

Options :

68634019025. 1
68634019026. 2
68634019027. 3
68634019028. 4

Question Number : 58 Question Id : 6863404806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Article LIST IT Instrument

A |Kishan Maharaj 1. |Pakhaway
B. [Purushotam Das IT. |Tabla
C. [Ravi Shankar IT1. |Bansuri
D. [Hariprasad Chavrasia | IV. |Sitar

Choose the correct answer trom the options given below:

1. A-I. B-II, C-III. D-IV

| ]

AT, B-1, C-IT. D-IV
3. A-IL B-1. C-IV., D-III
4. A-IV, B-11. C-I1I, D-I

Options :

68634019029. 1
68634019030. 2
68634019031. 3
68634019032. 4

Question Number : 58 Question Id : 6863404806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
I & I

FATPR T
[PRH AR | 1. [0Era
IEYH e | 1L [dddl
Rid T 111 [§Ted]
ERyEIE TRG] IV. [RdR
fafeiad fadedl 3 9 98l SR & =g BifeU ;

1. A-I. B-II, C-III. D-IV

Ofo|w|*=

2. A-IIL, B-1. C-1II. D-IV
3. A-IL B-I. C-IV, D-III
4. A-IV. B-II. C-II1. D-I

Options :

68634019029. 1
68634019030. 2
68634019031. 3
68634019032. 4

Question Number : 59 Question Id : 6863404807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Composition played in Ati Drut is known as:
1. Tala
2. Rela
3. Gati
4. Korwai

Options :

68634019033. 1
68634019034. 2
68634019035. 3
68634019036. 4

Question Number : 59 Question Id : 6863404807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 ga o o1 aTel Ta1 1 ol Tl © -
1.
2.3dl
3. 71

4. BRAG

Options :

68634019033. 1
68634019034. 2
68634019035. 3
68634019036. 4

Question Number : 60 Question Id : 6863404808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many vraieties of 'Marg' are given in Natya Shastra:

12

[
Lad

4.

n

Options :

68634019037. 1
68634019038. 2
68634019039. 3
68634019040. 4

Question Number : 60 Question Id : 6863404808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T § fba UoR & orf ad T 82

12

I
LFS]

4.

[

Options :
68634019037. 1



68634019038. 2
68634019039. 3
68634019040. 4

Question Number : 61 Question Id : 6863404809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Gharana LIST IT Artiste

A [Kadau Singh 1. |Shafat Ahmed Khan

B. |Ajrada II. [Swami Ram Shankar Pagal Das
C. [Nana PAnse II1. |[Babu Jodh singh

D. [Dell IV |Akram Khan

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

CA-IV, B-IIIL C-I1, D-I
3. A-IL B-IV. C-1I1, D-I
4, A-I1, B-1IL. C-IV, D-IV

Options :

68634019041. 1
68634019042. 2
68634019043. 3
68634019044. 4

Question Number : 61 Question Id : 6863404809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 el 11
ERTAT GG
A [ped HE 1. [SITd #gHE @l
B. RIS 11 [&GTH] TH I ORI ey
C. o= | [erE=iy e
D. [feewi v |sr@a |l
fafciad fadedl & I 98l TR &I 99+ HIflU

1. A-I. B-II, C-III. D-IV
2. A-TV, B-IIL. C-I1. D-I
3. A-IL B-IV. C-1I1. D-1
4. A-II, B-I11. C-IV. D-IV

Options :

68634019041. 1
68634019042. 2
68634019043. 3
68634019044. 4

Question Number : 62 Question Id : 6863404810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

South Indian Instruments are:

A. Panch Mukh Vadyam
B. Chenda
C. Dardur
D. JThallari

Choose the correct answer from the options given below:
1. Aand B only
2. B and C only
3. Cand D only

4. A and C only

Options :

68634019045. 1
68634019046. 2
68634019047. 3
68634019048. 4



Question Number : 62 Question Id : 6863404810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aféor yRdg 9 & -
A U9HE alEH
B. TgI
C. qgY
D. Sce]
i fau Tt faeedi o 9 el SR &1 994 Hifoid:
1. FAAA. B
2. %A B, C

3. Hdd C. D
4. PATA, C

Options :

68634019045. 1
68634019046. 2
68634019047. 3
68634019048. 4

Question Number : 63 Question Id : 6863404811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chronologically choose the correct order of the following articles:

A. Ram Sahai

B. Ram Kumar Mishra
C. Sharda Sahai

D. Kanthe Maharsj

E. Kumar Bose

Choose the correct answer from the options given below:

1.AB,C.D.E

| )

A DG E, B
3ACDBE
4 A EB.C.D

Options :

68634019049. 1

68634019050. 2
68634019051. 3



68634019052. 4

Question Number : 63 Question Id : 6863404811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddl Il &I BIArIRHS vH § IH:

A H el
B. YW $HR Yy

C. R4 9gl™g
D. ®& HERIS
E. PUR &9

A fau e fawedi # 9 Hel S &1 99 Sifon:
1.A.B,C,D,E
2.A,D,C,E,B
3.A,.C.D.B,E
4.A,E,B,C,D

Options :

68634019049. 1
68634019050. 2
68634019051. 3
68634019052. 4

Question Number : 64 Question Id : 6863404812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Khali-Bhari' Gat 1s played with:

1. Mudi (5
. Khuli (i
. Khuli (il -Mudi (g0
. Mudi (Fg0)-Khuli (el

Options :

68634019053. 1
68634019054. 2
68634019055. 3
68634019056. 4

[ ]

%]

=

Question Number : 64 Question Id : 6863404812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
et R’ 1d g9 el © -
1. ga
2. 9ol g
3 A
R GiEc R
Options :
68634019053. 1
68634019054. 2

68634019055. 3
68634019056. 4

Question Number : 65 Question Id : 6863404813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Harmonium belongs to which category:

1. Tatta

2. Avnadha

[F5]

. Sushir
4. Ghana

Options :

68634019057. 1
68634019058. 2
68634019059. 3
68634019060. 4

Question Number : 65 Question Id : 6863404813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eeaifaE g duft pram & -

1. dd

[

HaTS
3. 9t
4. ¢

Options :



68634019057. 1
68634019058. 2
68634019059. 3
68634019060. 4

Question Number : 66 Question Id : 6863404814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Koreyyapu' is played on:
1. Pakhawa;
2. Tabla
3. Mridangam
4. Shri Khol

Options :

68634019061. 1
68634019062. 2
68634019063. 3
68634019064. 4

Question Number : 66 Question Id : 6863404814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘DRAY" Gl W ldl i
1. gdigy 42

2. ddcff 92

3. QAT |
4. §RAE TR

Options :

68634019061. 1
68634019062. 2
68634019063. 3
68634019064. 4

Question Number : 67 Question Id : 6863404815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Jati will it be . if Chaturasya and Triyasya is combined together:

1. Khand

| )

. Mishra
3. Samkima
4. Chaturasya

Options :

68634019065. 1
68634019066. 2
68634019067. 3
68634019068. 4

Question Number : 67 Question Id : 6863404815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR U4 A DI WIS & dI- Il §llid &l o
1. 93
oy
P
4. TR

Options :

68634019065. 1
68634019066. 2
68634019067. 3
68634019068. 4

| )

L

Question Number : 68 Question Id : 6863404816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I Bandish |LIST IT Musical Form|
[Uttan I. [Kathak

Parmelu II. |Sitar

Sitar-Khani I1I. |Tabla

Chota Khaval | IV [Vocal

T REE

Choose the correct answer from the options given below:

1. A-I. B-IL C-IIL. D-IV
2. A-IL B-1. C-II. D-IV
3. A-IV, B-I1, C-III, D-I
4. A-II, B-1, C-IV, D-III

Options :

68634019069. 1

68634019070. 2

68634019071. 3
68634019072. 4

Question Number : 68 Question Id : 6863404816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
T T &I
GICR et

A [38H 1 [pad

B. [RHY 1L [FdR
C. [BaR @A | IIL [qaar
D. [BlerEra | 1v e

FafaiRad f[deedl ©§ O Uel 3o & 904 DIl

1. A-I, B-IL, C-III, D-IV
2. A-IIL. B-I, C-IL. D-IV
3. ATV BIL COiL DI
4. A-IL, B-L. C-IV. D-III

Options :

68634019069. 1

68634019070, 2

68634019071. 3
68634019072. 4



Question Number : 69 Question Id : 6863404817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the specially of Nad.

1. Intensity

[ )

. Grah
3. Bandish
4. Yat1

Options :

68634019073. 1
68634019074. 2
68634019075. 3
68634019076. 4

Question Number : 69 Question Id : 6863404817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S8 9§ 7IE Bl faRIvaT & -
1. cifgar
e
ST
4. 7fd
Options :
68634019073. 1
68634019074. 2

68634019075. 3
68634019076. 4

| )

L]

Question Number : 70 Question Id : 6863404818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Varietis of 'Kriya' are:

1.2

[
L¥%]

3.4
4.6

Options :

68634019077. 1
68634019078. 2
68634019079. 3
68634019080. 4

Question Number : 70 Question Id : 6863404818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tobar & fba- Aig 82

1.2

| )
L¥¥]

4.6

Options :

68634019077. 1
68634019078. 2
68634019079. 3
68634019080. 4

Question Number : 71 Question Id : 6863404819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepchandi Tala is played with:

A. Razakhan Gat
B. Thumuri
C. Dhamar
D. Bhajan
Choose the correct answer from the options given below:
1. Aand B only
2. B and C only
3. Aand D only

4. B and D only
Options :
68634019081. 1
68634019082. 2

68634019083. 3
68634019084. 4

Question Number : 71 Question Id : 6863404819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tu=idl are ST AT & -
A. TORAH! T
B. gHl
C. YAR
D. Yo
i fau Tt faeedi o 9 el SR &1 994 Hifoid:
1. FAAA. B
2. %A B, C
3. HadA. D

4. FAAB. D

Options :

68634019081. 1
68634019082. 2
68634019083. 3
68634019084. 4

Question Number : 72 Question Id : 6863404820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which Layakari it will be. if Tala Keharwa is played in Ada Chartala from Sam to Sam.

o B |

¥ [
~1[r2 -~ | 4

b2 | =2

Options :

68634019085. 1
68634019086. 2
68634019087. 3
68634019088. 4

Question Number : 72 Question Id : 6863404820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTST AT aTd & $edl ard ! 9H9-Y G4 d& gol4 IR Sl qaHR! gt -

==

(9] (]
~1]r2 -~ | 4

=
b2 | =2

Options :

68634019085. 1
68634019086. 2
68634019087. 3
68634019088. 4

Question Number : 73 Question Id : 6863404821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Ustad Allarakha Khan was a famous Tabla player of Punjab Gharana
Reason R: He gave a new leve to Peshkar

In the light of the above statements. choose the correct answer from the options Given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634019089. 1
68634019090. 2
68634019091. 3
68634019092. 4

Question Number : 73 Question Id : 6863404821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 2 [T T §, Ud SHUHUT (Assertion A) & = H [ARAT ¢ I GIRT 3HP BRI (Reason R) P
U .

HFUSYT A: IHIE STTRFE] Ul R & T daa aad 4

PRI R: 30+ UIHR T T 741 ATAH &7

SWRIGd DY & A, i 3T MU fasedi O I 9ad Sued IR &1 98- DifIs:
1. A 3R R I 961 & SRR, A DI el RS 5

2. A SRR EFT TG IR R, A B! gl AT TRI &

3. ATeiedfPTR TS el &

4 AT I AP TR TS

Options :

68634019089. 1
68634019090. 2
68634019091. 3
68634019092. 4



Question Number : 74 Question Id : 6863404822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reciting once the Ada of Tala Keharwa in its cycle. will begin after the beat.

] —
[ Y]
L [ w2

(]
]
Lo | b2

-
L3
W | b2

Options :

68634019093. 1
68634019094. 2
68634019095. 3
68634019096. 4

Question Number : 74 Question Id : 6863404822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PEdl & UD AGa- H UHhaR 3491 aid I ATSay [T 711 & urd URY gif

[ ] —
b2 tad
L | a3 P )

%)
(]
et | 12

Options :

68634019093.
68634019094.
68634019095.
68634019096.

AW N =

Question Number : 75 Question Id : 6863404823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of Tabla Gharanas:

A, Banaras

B. Farukhabad
C. Lucknow
D. Ajrada

Choose the most appropriate answer from the options given below:
1LA.B.C.D
2:B,C,D A
3.D.C.B.A
4.C.D.B.A

Options :

68634019097. 1
68634019098. 2
68634019099. 3
68634019100. 4

Question Number : 75 Question Id : 6863404823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d9d & IR I Hel BH H g1 -

A FRY
B. Ho@EIG
C. TS
D. 3ORTST

=i fau v f[d@redl § O 98l 3Tk &1 9494 HIau:

1A B C.D

2.B.C.DA
3.D.C.B.A
4. C.D.B. A

Options :

68634019097. 1
68634019098. 2
68634019099. 3
68634019100. 4

Question Number : 76 Question Id : 6863404824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Reciting the Tigun of Thaptal's only one Palla will be of Matras.

fad | =—

L] [ ]
L3 —
L | k2 o | —

=
L
(S E

Options :

68634019101.
68634019102.
68634019103.
68634019104.

AW N =

Question Number : 76 Question Id : 6863404824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUdTe &l {7 1 U Yearl Pl [l {1 &1 gHM?

b=
[ % ]

s
Ll
SRR

Options :

68634019101.
68634019102.
68634019103.
68634019104.

AW N =

Question Number : 77 Question Id : 6863404825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ja

Dha Dhi Na Dha Tu
1 +
Tala is written in which Notation system (TZid)

1. Rabindra Sangeet Paddhati

2. Bhatkhande Tala Lipi Paddhati

3. Vishnudigambar Tala Lip: Paddhati

4. Bengla Tal Lipi Paddhati

Options :

68634019105. 1
68634019106. 2
68634019107. 3
68634019108. 4

Question Number : 77 Question Id : 6863404825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suad a1 &1 g arafaft s & forar man g -
1. 3o difid usld
2. YIS drafiy ughd

3. TawpfémeR qrafey gsid
4. St arafer ugfd

Options :

68634019105. 1
68634019106. 2
68634019107. 3
68634019108. 4

Question Number : 78 Question Id : 6863404826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of Talas in increasing number of Talis in Them.

A. Chatal
B. Kecharwa
C. Dhamar
D. Rupak

Choose the correct answer from the options given below:
1LAB.D.C
2:B,D, C;A
3LACDB
4.B.C.D,A

Options :

68634019109. 1
68634019110. 2
68634019111. 3
68634019112. 4

Question Number : 78 Question Id : 6863404826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el & H&A & YR W el 3 9gd Y HH H I+ -

A drad

B. dgXdl
C. Y¥HR
D. 0%

=i fau v f[d@redl § O 98l 3Tk &1 9494 HIau:

1.A B 1NE

22B.D.C.A
3.3JA.C.D.B
4. B.C.D. A

Options :

68634019109. 1
68634019110. 2
68634019111. 3
68634019112. 4

Question Number : 79 Question Id : 6863404827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Instruments| LIST IT Category
A |Tavil I. |Ghan

B. |Surbahar II. JAvnadha

C. [Jai Ghanta II1. Sushir

D. |Shehnai IV, |Tatta

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I, D-ITI

| E)

. A-L B-III, C-II. D-IV

[#5]

AL B-ITL C-IV, D-I
4. A-IV, B-III. C-II. D-I

Options :

68634019113. 1
68634019114. 2
68634019115. 3
68634019116. 4

Question Number : 79 Question Id : 6863404827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

gl 1 1 Yl 1 9 fAeH Sifore

a1 =1
g sfor
A [afqd L [09
B. [RagR 1L |36T5
C. [o/ Her 1. [
D. [SEATg IV [dq
frafarad fawel & I 96l IR &1 994 DI -

1. A-II. B-IV. C-I, D-ITI
2. A-l. B-III. C-II. D-IV
3. A-IIT, B-11. C-IV. D-I
4. A-IV. B-III. C-II. D-I
Options :
68634019113. 1

68634019114. 2
68634019115.3



68634019116. 4

Question Number : 80 Question Id : 6863404828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of Akshar kalas in Sankirna Jati are:

[
L¥%]

4.9

Options :

68634019117. 1
68634019118.2
68634019119. 3
68634019120. 4

Question Number : 80 Question Id : 6863404828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yol A & 3faR PTal b S & -

;g

I
LFS]

4.9

Options :

68634019117. 1
68634019118. 2
68634019119. 3
68634019120. 4

Question Number : 81 Question Id : 6863404829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Naad is of two types.
Reason R: Both varieties of Naads are used in musie.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

68634019121. 1
68634019122. 2
68634019123.3
68634019124. 4

Question Number : 81 Question Id : 6863404829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 &1 2 [T T §, Ud SHUHUT (Assertion A) & =Y H ARG ¢ ol GIRT 3HP BRI (Reason R) P
.

SAfUFEYT A: TS F I TFR B

PRI R: 71E $ S YHRI 5T 9am Fifid J g g

SWRIGd DU & Hclidd, A 3T MU fasedi O ¥ 9ad uged STk &1 90+ DIfIT:

1. A IR R I T8l 8 SR R. A DI Tgl AR &

2. A SRR AT TG & IR R A DI el AT TRI &

3. ANl afbIR T8l Tl o

4. ATEI TS g AfFT R WET R

Options :

68634019121. 1
68634019122. 2
68634019123. 3
68634019124. 4



Question Number : 82 Question Id : 6863404830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s not a related to the Raga.

1. Thaat

[ B

. Vadi

L]

. Samrvadi
4. Yati

Options :

68634019125. 1
68634019126. 2
68634019127. 3
68634019128. 4

Question Number : 82 Question Id : 6863404830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 3 9 foog o1 7w 4 e el 82

1. YIc

argl

- Hardl
4. 7fd

Options :

68634019125. 1

68634019126. 2

68634019127. 3
68634019128. 4

[

L

Question Number : 83 Question Id : 6863404831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sign of Khali in Vishnudigambar Notation system is:

1.1

1o
|



Options :

68634019129. 1
68634019130. 2
68634019131. 3
68634019132. 4

Question Number : 83 Question Id : 6863404831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfermaR qrafafy v & @ a1 fas & -

s G |

3.0
4. %

Options :

68634019129. 1
68634019130. 2
68634019131. 3
68634019132. 4

Question Number : 84 Question Id : 6863404832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ektala of Karnatak Sangeet will be of how many beats in Trayasya Jati:

1.3

b2
[o

4. 12

Options :

68634019133. 1
68634019134.2
68634019135. 3
68634019136. 4

Question Number : 84 Question Id : 6863404832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pl ST &1 U did 305 Siiig | [Ga- ammsd &1 s

1.3

b2
o

4. 12

Options :

68634019133. 1
68634019134. 2
68634019135. 3
68634019136. 4

Question Number : 85 Question Id : 6863404833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct matras of Chautal and Vibhag. tali-khali in this sequence :

Onwp
— o O b

2
Choose the correct answer from the options given below :

1.LA-C-B-D

[ ]

.B-A-C-D
3.C-D-A-B
4D-B-C-A

Options :

68634019137. 1
68634019138. 2
68634019139. 3
68634019140. 4

Question Number : 85 Question Id : 6863404833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IdTel &1 Wel JHE. faHIT, dreil-areil & 8 | 981 fdeed gHu:

Onwyp
= O b

.
i fou 7T faeedl O I gl SR &1 994 Bifoiu:
Lk -BD
) BaA D
3.0-D-A-B
4.D-B-C-A

Options :

68634019137. 1
68634019138. 2
68634019139. 3
68634019140. 4

Question Number : 86 Question Id : 6863404834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are the Chands from the following:

A. Mandra Kranta
B. Anushtup

C. Yamak

D. Rupak

Choose the correct answer from the options given below:
1. Aand C only
2. B and D only
3. Aand B only

4. B and C only

Options :

68634019141. 1
68634019142. 2
68634019143. 3
68634019144. 4

Question Number : 86 Question Id : 6863404834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I IEE B
A, HaThTdl

B' io
C. JH®
D. =&

i fau T fasedl O I el STk &1 994 Bifoiu:
1.PAAA, C
2. $aUB. D
3. PAU A B
4. HAUB. C

Options :

68634019141. 1
68634019142. 2
68634019143.3
68634019144. 4

Question Number : 87 Question Id : 6863404835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ta Dhin Dhin Na Nana Dhin Dhin Na.... These Bols are related to which Tala.
1. Rupak Tala
2. Athya Tala
3. Jhamp Tala

4. Adi Tala

Options :

68634019145. 1
68634019146. 2
68634019147. 3
68634019148. 4

Question Number : 87 Question Id : 6863404835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ar off ff =7 3 o off =77, 9 9 foog a9 @ gafed 82

1. =YD dlel

| )

Y dIed
R-EKIN
4. 31fS |
Options :
68634019145. 1
68634019146. 2

68634019147. 3
68634019148. 4

L

Question Number : 88 Question Id : 6863404836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Meaning of 'Aatodha’ in Natya Shatra is:

1. Vadya (Instruments)

2

. Swara

LFS]

. Marjana
4. Saptak

Options :

68634019149. 1
68634019150. 2
68634019151. 3
68634019152. 4

Question Number : 88 Question Id : 6863404836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 § " 3Td IS Wsa BT il g
1. Qe

R

HTSHT

4. didd

[

[FS]

Options :
68634019149. 1



68634019150. 2
68634019151. 3
68634019152. 4

Question Number : 89 Question Id : 6863404837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Paran' 1s primarily performed on the instrument:
1. Pakhawaj
2. Khol
3. Dholak

4. Naal

Options :

68634019153. 1
68634019154. 2
68634019155. 3
68634019156. 4

Question Number : 89 Question Id : 6863404837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR Y Y o5 aTe] UR SoaT S § -
1. TaS
2. @i
3. Gldid
4. 7T

Options :

68634019153. 1
68634019154. 2
68634019155. 3
68634019156. 4

Question Number : 90 Question Id : 6863404838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Purushotam Das ji 1s associated with which instrument and Gharana?

A, Tabla

B. Pakhawsaj
C. Dellu

D. Nathdwara

Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. B and D only
4. B and C only

Options :

68634019157. 1
68634019158. 2
68634019159. 3
68634019160. 4

Question Number : 90 Question Id : 6863404838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q=N G4 Gff &1 [y aTe] Ud TR 3 964 g2

A, dddl
B. Ydiaul

c. faw
D. AlY4glX

A fau 7T fawedi # 9 Hel SR &1 99 Difo:

1. AB

| )

A C
3.B.D
4. B.C

Options :

68634019157. 1
68634019158. 2
68634019159. 3
68634019160. 4

Question Number : 91 Question Id : 6863404839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which are the Avnadda Vadyas?

A. Chinta
B. Aankik
C. Ghatam
D. Patah

Choose the correct answer from the options given below:

1. Aand B only

| )

. A and C only

Laa

.B and D only

4. A and D only

Options :

68634019161. 1
68634019162. 2
68634019163. 3
68634019164. 4

Question Number : 91 Question Id : 6863404839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 9 AT A -

A faHer
B. APldH
C.HYcH
D.Uce

Hid U U [doed] | ¥ 9ol 3R &1 944 S IolU;

1. AB

b2

LALC
3.B.D
4. A D

Options :

68634019161. 1
68634019162. 2
68634019163. 3
68634019164. 4



Question Number : 92 Question Id : 6863404840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anokhe lal Mishra had the mastery over which Bols:

A Dhere Dhere

B. Na Dhin Dhin Na
C. Chakradar

D. Ghat

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. B and D only

Options :

68634019165. 1

68634019166. 2

68634019167. 3
68634019168. 4

Question Number : 92 Question Id : 6863404840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3RE A1 ey &1 {1 gidl &1 g9 § geRd g1id u1?
A SRR
B. ATl & AT
C. gl
D.Td

Hid f4u U [doedl H§ ¥ 9ol 3R &1 94 S Ilol:
1.$dUA. B

PAU A, C

3. 9ddB. C

4. ®dUB,D

| )

Options :

68634019165. 1
68634019166. 2
68634019167. 3
68634019168. 4



Question Number : 93 Question Id : 6863404841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How 1s 'Guri’ indicated:

1. With Sashabda and Nishabda

(B

. Showing the hand upwards
3. Showing the hand downwards

4. With Anudruta

Options :

68634019169. 1
68634019170. 2
68634019171. 3
68634019172. 4

Question Number : 93 Question Id : 6863404841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. Geq UG H:2eg & g
2. DI SHW DI 3R e
3. BT &1 A B AR fe@r

4. HIgd DGR

Options :

68634019169. 1
68634019170. 2
68634019171. 3
68634019172. 4

Question Number : 94 Question Id : 6863404842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequence of Tabla performance in Banaras Gharana is:

A. Uthan

B. Rela

C. Varieties of Theka
D. Kayda

E. Tukda

Choose the correct answer from the options given below:

1.A.B.C.D.E only

[ ]

.A,C.D,B.Eonly
3.A.D.C.E.B only

4. A E.D.C.B only

Options :

68634019173. 1
68634019174.2
68634019175. 3
68634019176. 4

Question Number : 94 Question Id : 6863404842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR R Y TE@I a1 BT PH B -

A 33H
B. 3@l

C. &P BIUBR
D. Bal

E. TPl

14 fau U faed & 9§ 951 SR ®1 99 Difolt;

1.LABCDE
2ZACDB.E
JADCEB
4. A.E.D.C.B

Options :

68634019173. 1

68634019174. 2

68634019175.3
68634019176. 4



Question Number : 95 Question Id : 6863404843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Instruments covered with skin comes under the category of Avnadha

Statement IT: These are used for performing Tala on them

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement I is false but Statement I is true

Options :

68634019177. 1
68634019178. 2
68634019179. 3
68634019180. 4

Question Number : 95 Question Id : 6863404843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR PR E:
HYF 1: IH I Hg §U are 3Ha-g i 4ol F 3d €
®YT I1: U8 A1 I goll & oy Wi (U rd 5 |
SWRIGd PYF & 3l H, A 4T 7 fadredi # I 981 IR &1 98 Pifor;
1. BYI SR GH 9 §

2. YT AR SHT 3 S
3. FUTI TR, AT U I 3 §
4. BYT1 HFA . AfpT FUT 1 T ©

Options :
68634019177. 1



68634019178. 2
68634019179. 3
68634019180. 4

Question Number : 96 Question Id : 6863404844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are the Tatta Instruments?
A. Tanpura
B. Dundubli

C. Chumta
D. Violin

Choose the correct answer from the options given below:
1. A and B only
2. B and C only
3. Aand D only
4. B and D only
Options :
68634019181. 1
68634019182. 2

68634019183.3
68634019184. 4

Question Number : 96 Question Id : 6863404844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN A A AR -
A, TG
B. ggHl
c. fager
D. agfeH

i fou 7T fasedl O 9 el STk &1 994 Bifoid:
1. PAT A, B
2. Pau B, C
3.PATA.D

4. FAdAB. D

Options :



68634019181. 1
68634019182. 2
68634019183.3
68634019184. 4

Question Number : 97 Question Id : 6863404845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of Talas in decreasing number of Matras (beats):

A. Thumra

B. Sultala

C. Tilwada

D. Pancham Savari

Choose the correct answer from the options given below:

1.LAB.C.D

[ ]

+ BB A8
3.C,D.AB
4.C.D.B.A

Options :

68634019185. 1
68634019186. 2
68634019187. 3
68634019188. 4

Question Number : 97 Question Id : 6863404845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1l 1 WA &1 &1 & Jadd H H g0 -

AFH
B. gadrd
c. faaarst

D. YgHIaR]
i fou T fdeedl o O 9ol 3R &1 994 Hifoi:

1AB CD

| ]

B, DA, C

3.C.D.AB

4.C.D.B.A



Options :

68634019185. 1
68634019186. 2
68634019187. 3
68634019188. 4

Question Number : 98 Question Id : 6863404846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s an ancient Percussion (Avnadha) Instrument:

1. Tabla
2. Pakhawayj
3. Bhumi Dundubhi
4. Khol

Options :

68634019189. 1

68634019190. 2

68634019191. 3
68634019192. 4

Question Number : 98 Question Id : 6863404846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U= A arel S 91 4P

1. ddcil

| )

RECICE]

Y gl
4. Gl

Options :

68634019189. 1
68634019190. 2
68634019191. 3
68634019192. 4

[#5]

Question Number : 99 Question Id : 6863404847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sarangi accompanies Tabla in Solo Recital. In which Category will Sarangi fall:

1. Tatta

| B

. Ghan
3. Sushir
4. Avnadha

Options :

68634019193. 1
68634019194. 2
68634019195. 3
68634019196. 4

Question Number : 99 Question Id : 6863404847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddc Uhd algd & 914 9Tl &1 9efd gidt 8. 99 IRl fg arey ot 4for o amanit

1. dd

-4

| )

U

AR

4. Ad1%

[#5]

Options :

68634019193. 1
68634019194. 2
68634019195. 3
68634019196. 4

Question Number : 100 Question Id : 6863404848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Jati 1s very important in Tala system of Karnataka Music
Reason R: Different Talas are formed on the basis of Jat1

In the light of the above statements. choose the correct answer from the options Given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

68634019197. 1
68634019198. 2
68634019199. 3
68634019200. 4

Question Number : 100 Question Id : 6863404848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l U (AU T §, Ud SIUSHUT (Assertion A) & =Y H [ARGT ¢ ol GIRT 3HP DRI (Reason R) P
.

HTUFYT A: Pcd Wiiid H a1 dsia H 1 &1 a9y Te@ &

RUTR: S F &1 10l B =185 6

SWRIGd DY & Helidd, i 3T MU fasedi I 3 9a8 Sued Il &1 98- HifoIs:
1. A SRR A 981 € SRR A S 96l AR §

2. A SRR EFT TG IR R, A B! gl AT TRI &

3. ATEI e AP R TSI ET ©

4 ATEI TR g OfPT R TR ©

Options :

68634019197. 1
68634019198. 2
68634019199. 3



68634019200. 4



